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T 10 11 12 '13 '14
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LEAZEAL 3,801 3,784 3,793 3,751 2,975
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(291 2 %, Ykg)

B — A&

Sl A B+ 3 = (1) ) 3)
° v A= BAZ CH=
s 7+ A & 38.1 39.6 28.6 334 44.6
+ &5 H % 61.9 60.4 71.4 66.6 55.4
= A H] 21.4 21.7 18.6 21.9 22.0
1 R: 2 B I H] 7.8 7.3 9.7 8.2 6.5
o] Rin 32.7 31.4 43.1 36.5 26.9
= s o A 16.9 17.7 18.8 14.0 19.3
A = om 9 A 6.7 5.7 10.1 10.1 2.7
ES I | 38.3 37.0 42.5 42.5 334
2 A 7 F A 659 659 571 667 670
El| I i e 1,765 1,700 2,000 2,000 1,500

A — A& I3 — A=
T A 4) ©) i (6) (7)
= ABZ | BA=R o ABZ | BA=
T e R - 33.3 322 33.8 33.0 28.6 33.5
f % ° £ 66.7 67.8 66.2 67.0 71.4 66.5
24 H 205 18.2 21.5 21.4 18.5 21.8
1= 2 B I S ] 8.7 9.8 8.2 8.4 9.7 8.2
o] | 375 39.8 36.5 37.2 43.2 36.5
= o o A 14.1 15.2 13.6 14.4 18.8 13.9
AE (= ou & A 10.1 10.1 10.1 10.1 10.1 10.1
A wfp & A 425 425 42.5 425 42.5 425
A 7t 3 74 665 643 675 660 571 670
2 M 27 A 2,000 2,000 2,000 2,000 2,000 2,000

F) AZE AW — WAFEN - mobd — 2y — 2l
BAR : A2 — mud — 2w — alx)
CAZ : KR — FERE — eIy - A
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L AEE vl (B — A, ABE)
(S Yke)
T < 11 14 8 L]
o 3h 2o ) 101.1 112.2 1.1 | 2dan] Q1%
sl | = A& A W) 51.0 58.5 7.5 HAA 7V
= % 41.1 44.4 3.3 R S
—— s Ak H 12.0 12.6 0.6 Z2ke1An] Q1A+
v =5 12.5 12.5 -
amfeA | & H| 60.0 60.0 -
A 271.7 300.2 225 |11 di¥] 8.1% 7t
th A= FEHE d5 (B - A, ABE)
(9 %, ke
T = 08 09 '10 11 14
N % H] £ 78.9 69.7 70.5 66.7 71.4
2| A H] 17.6 17.9 16.0 13.0 18.6
H]-g-+ s A H] 13.2 28.1 30.5 30.7 9.7
o] | 481 23.7 24.0 23.0 43.1
= o & A 15.0 18.3 15.7 14.3 18.8
A = o g A 7.3 11.4 9.3 9.1 10.1
R | 56.6 40.0 455 433 42.5
s 7F o+ A 7 A 400 590 650 1,000 571
+ & H & 1,500 1,360 1,550 2,000 1,429
E~ | 4 2 1,900 1,950 2,200 3,000 2,000
< f&H]8 HsHLA >
o ’14d AR FEHE LS 71.4%E 119 ¥ 4.7%P ST}
- AP - C11) 13.0% — (C14) 18.6
- ZHAW] ¢ (C11) 30.7% — (C14) 9.7
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AR RS HAR(EE — A2, TR

ZAKYL ;14,10 (91 - kg, %, 11, 355

T I = 4 v & A= 2 7

Ay

N EHAAIE ¢ 4,0009/3.3m

Ak 7t A A 5714 28.6 . ’

4 5 7b A 7k A =8k} 7kg/3.3m0
T & A A A 1122 56  |1,010,0009+9,000kg(20kgx450%2h
x4 A b 58.5 29

2k =

A (%2 & A (57.5) 1,1509--20kg

e (Hl | ) (1.0) 1,0009+50"3A+20kg

=

j] = 3 H] 44.4 22 400,0009+9,000kg(20kgx450 34}
s A H] 28.6 14 | J7w], dAks F
o] A 132.3 6.6

-~ 3} Z} H] 12,6 0.6 |251¥+20kg

u

A‘]] A 40.0 20 | A4 4%

=}

" & 7 A 1,000.0 50.0 |20,000+20kg

H] % =4 12.5 06 |2509-20kg(7AiH—FE)
ool oA W s0 | 26 |Amae), A, QAR 5
i o] Rin 85.5 43
9]

@+ w 7} A 1,150.0 57.5 |23,0009+20kg

= % H 60.0 30 60,0009(1F E2)+(20kgx50737h
" k) ! 345 L7 |77kl 3%
o zt A H] 111.6 56 | AEFEM], Y], dAE T
Ak

o] Rin 644.0 322

S A 2 2,000.0 | 100.0
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(91 kg, %, I, 3

T & w 9 v & AR
4 H 7 A 667.3 33.4
T & A A A 1122 5.6 1,010,000-9+9,000kg(20kgx450 34
%l H H] 55.0 2.8 1,10099+20kg
A X g A W 58.5 2.9
/1\_]_,
2} (x & A (57.5) 1,1509--20kg
(el o] ) (1.0) 1,000 9+-5044}20kg
i & H] 44.4 22 |400,000¢1+9,000kg(20kgx4507 A}
@ w5 5 5 10.0 0.5 Tl 0.5%
s & H| 12.6 06  |251+20kg
s
5]
A]]] A F 4+ 8 40.0 20 |A=HA9] 49
=
q = 7 A 1,000.0 500  |20,0009)+20kg
H] % =4 12.5 0.6  |2509¥+-20kg = 12.5YU(FIE>HE)
Sl oom m 52.0 26 | AETM), oz, YRtw B
i o] Rin 85.5 43
2l
€ w7 A 1,150.0 575 |23,0009+20kg
& & H] 60.0 30 60,0001 E&)+(20kgx507F2h
N Fa X 345 17 |F47F] 3%
el s A H] 111.6 5.6 Axzyey], 1], dA=E &
A}
o] Rin 644.0 322
& W 7 A4 2,000.0 100.0
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DA FENE FAECEE > g, FEAE SR

Eu{o

ZAK : '14. 10 (- Qkg, %, 0, AR
T T w 9 Hl & A== ]
I s P 669.8 44.6
T & 4 A 112.2 7.5 1,010,000-249,000kg(20kg=450"32h
Ay a0 d H] 55.0 3.7 1,1009+20kg
/‘\_]_,
A} X & A Ay 58.5 3.9
(X & A (57.5) 1,15099+20kg
(el o X)) (1.0) 1,0009+-50734+20kg
2] = %5 M 44.4 3.0 400,0001+9,000kg(20kgx4502h)
o]
=
=
[e)
# SIS 20.0 13 [wEEele] 29
= @ owf F R 40.0 27 | 7HA] 4%
A
o
o
& Sl I 1,000.0 66.6 20,000-9)-20kg
A H] 97.0 6.5 AE], 18], P &
a}
B!
= o] iy 403.0 26.9
=
=
E
DIl I 1,500.0 100.0  |150%)/100g
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| B9 4]
AR F50]E HAECEA — Mg, 7R
241 14, 10 (] - kg, %, FUI, AR
T = = o H & A==
Ay
N XEAANZE : 4,50099/3.3m’
2k 7t 74 642.9 32.2 ! ’
SR A ke Tkg/3.3m
2t
T & A A A 106.7 5.3 960,0009+9,000kg(20kgx450F4h
EZ % A A 58.5 2.9
2k =
2 (x & A (57.5) 1,1509-+-20kg
Fr (o] ) (1.0) 1,0003+504420kg
=
‘5 = % ¥ 4222 2.1 380,000-9+9,000kg(20kgx450F<})
A H] 32.1 1.6 Am], AxE F
o] Rix 65.1 3.3
] S 12.6 0.6 |2519+20kg
j s
v
,\]]1 T TR 40.0 20 | AE7HEe] 4%
2
4 & 71 7 1,000.0 50.0  |20,0009+20kg
1 . 12.5 0.6  |2509)-20kg(7dvid—%E)
%_
o ZA S I ) 52.0 266 | AEEp], 1M, dAkm T
i o & 85.5 43
Sl
s+ o 7} A 1,150.0 575  |23,0009+-20kg
= % v 60.0 3.0 60,0009(1 % E=])+(20kgx50<h
N s A=k 34.5 1.7 797 °] 3%
Bl s A H] 111.6 5.6 Axzyed], 7w, A= 5
A}
o] Rix 644.0 322
&+ wf 7} A 2,000.0 100.0
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AR EHE HAR(EAD — A2, A

(91 kg, %, I, 3

T & w H & AE = = T
A I 675.1 33.8
T & A A A 106.7 53 ]960,00091+9,000kg(20kgx450 32}
%l H H] 55.0 2.8 1,1009+20kg
g z Z A 58.5 2.9
/‘\_]_,
2} (2 & A (57.5) 1,1509)+20kg
(el o] =) (1.0) 1,000+507321+20kg
i & H] 422 2.1 380,000-9+9,000kg(20kgx450 <))
@F v = 5 R 10.0 0.5 FufFelo] 1%
s A H] 12.6 0.6 |2519+20kg
=
u
A]]] R ] 40.0 20 | A 4%
=}
q =% 7t A4 1,000.0 50.0  [20,000%)+20kg
H % = 12.5 0.6 |25099+20kg (AIH—HE)
Sl A m | s20 | 26 |dEme, aaw, 9w
u
i o] Rin 85.5 43
2l
& w7 A4 1,150.0 57.5  [23,0009)+20kg
T F 60.0 3.0 |60,0009)(1F E5)+(20kgx50"37h
R z A=A 34.5 1.7 7979 3%
2 s A H] 111.6 5.6 ], aAn|, dals 5
/E}
o] Rin 644.0 322
@+ 5 7 A 2,000.0 100.0
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2(FY — M, 7R

(T kg, %, TV, )

= H & A E 2 7
EHAAYE ¢ 4,0009/3.3m
571.4 286 | s :
8 : Tkg/3.3m
112.2 5.6 1,010,0001+9,000kg(20kgx45032h)
58.5 2.9
a .
2 (57.5) 1,1509+-20kg
r (1.0) 1,000 9+-504420kg
=
[e)
) 422 2.1 360,00091-9,000kg(20kgx45044h
28.6 1.4 | 17Y], A=
] 134.5 6.7
_ 12.6 0.6 251¢+20kg
Hu
Aq = 40.0 2.0 8719 4%
@—
2 1,000.0 50.0  |20,0003-20kg
55 =1 12.5 0.6 |2509-20kg (A% E)
%_
= 52.0 2.6
A 85.5 43
2l
1,150.0 57.5  |23,000¢+20kg
60.0 3.0 60,000 4(1= )=(20kgx50”4Zh
N =] 345 1.7 | T97HES 3%
&l H] 111.6 5.6 Asxdey], 11H], Yxks
gl o
iy 644.0 32.2
3+ 2,000.0 100.0
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2(FY — M, 7R

ZAKY ;14,10 (91 - kg, %, 11, 355
T 2 = Hl & A== ]
VA ! 669.5 33.5
T & A A A 112.2 5.6 1,010,0001-9,000kg(20kgx4503<h)
A 1w 55.0 2.8 1,10099+20kg
2 X g A 58.5 2.9
/‘\_]_,
2} (x & A (57.5) 1,150 912K 20kg)
(el o] ) (1.0) 1,00099+504420kg
& & 422 2.1 380,0003+-9,000kg(20kgx 450341
o) = R 10.0 0.5 =] 1%
] S ) 12.6 0.6 25199+20kg
j s
v
Aq e 40.0 20 | A7) 4%
;(O]_
3 &% 7 A 1,000.0 50.0 20,000+20kg
L)/ S <4 12.5 0.6 250¢+20kg(7did—F3E)
Sl oA 52.0 26 | AEaEE), A, w5
u
I o] iy 85.5 43
?_]
+ v 7 A 1,150.0 57.5 23,00090+20kg = 1,700
= % H 60.0 3.0 60,000)(1%= E2])+(20kgx5034h
N 7 sl 34.5 1.7 T97H 9] 3%
Bl 4 G I ] 111.6 5.6 Ay, AAY|, dxw 5
A}
o] Rix 644.0 322
% w 7 A 2,000.0 100.0
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